BID

to the

# BOROUGH OF AVALON CAPE MAY COUNTY, NEW JERSEY 2022 RECONSTRUCTION OF VARIOUS STREETS CONTRACT NO. M-128

#### SCHEDULE OF BASE BID ITEMS

			AMOUNT
ITEM 1	2,237 CY @ \$Per CY	\$	ZZ,370 <sup>(4</sup>
ITEM 1A	1,305 CY @ \$ / O Per CY  TEN DOLLARS - NO (en + S  (WRITE UNIT PRICE for Item 1A in Words and Numbers)	\$ <u></u>	13,050 4
ITEM 2	EXCAVATION, TEST PITS  102 CY @ \$ O O Per CY  MO DOLLARS - ONE PENNY  (WRITE UNIT PRICE for Item 2 in Words and Numbers)	\$	<u> </u>
ITEM 3	BANK RUN SAND AND GRAVEL BACKFILL, VARIABLE THICK IF AND WHERE DIRECTED  877 CY @ \$ 20  PER CY  TWENTY DOLLARS No Cents (WRITE UNIT PRICE for Item 3 in Words and Numbers)	KNESS, \$	17,5440 ª
ITEM 4	NJDOT 57 STONE, IF AND WHERE DIRECTED  55 CY @ \$ Per CY  FORTY DOLLARS - No Cents  (WRITE UNIT PRICE for Item 4 in Words and Numbers)	\$	2,200 4
ITEM 4A	NJDOT 57 STONE, IF AND WHERE DIRECTED  25 CY @ \$ 30 Per CY  Thirty Douaks - No Cents  (WRITE UNIT PRICE for Item 4A in Words and Numbers)	\$	750 %

ITEM 5	SOIL AGGREGATE BASE COURSE, TYPE I-5, 6" THICK	(1
	6,185 SY @ \$ 9 Per SY	\$ 55,665 ".
	NINE DOLLARS- NOCONTS	
	(WRITE UNIT PRICE for Item 5 in Words and Numbers)	
ITEM 5A	SOIL AGGREGATE BASE COURSE, TYPE I-5, 6" THICK	4
	3,280 SY @ \$ / O Per SY	\$ 32,800
	TEN DOLLARS - No (ents) (WRITE UNIT PRICE for Item 5A in Words and Numbers)	
	(WRITE UNIT PRICE for Item 5A in Words and Numbers)	
ITEM 6	SOIL AGGREGATE BASE COURSE, TYPE I-5, VARIABLE THICK	
	100 CY @ \$ 40 Per CY	\$ 4,000 4
	FORTY DOLLARS- No Cents	//
	(WRITE UNIT PRICE for Item 6 in Words and Numbers)	
ITEM 6A	SOIL AGGREGATE BASE COURSE, TYPE I-5, VARIABLE THICK	KNESS,
	IF AND WHERE DIRECTED	
	50 CY @ \$ 40 Per CY	\$ 2,000
	FORTY DOLLARS - No lents	<u> </u>
	(WRITE UNIT PRICE for Item 6A in Words and Numbers)	
ITEM 7	HOT MIX ASPHALT 19M64 BASE COURSE, 2-1/2" THICK	4 4
	1,010 TONS @\$ 110 Per TON  ONE HUNDRED TEN DOUARS	\$ //1, 100 ?
	ONE HUNDRED / EN DOUARS	
	(WRITE UNIT PRICE for Item 7 in Words and Numbers)	Cents
ITEM 7A	HOT MIX ASPHALT 19M64 BASE COURSE, 3-1/2" THICK	4
	748 TONS @ \$ Per TON	\$ 8Z,Z80?
	ONE HUNDRED TEN LOUARS	1
	(WRITE UNIT PRICE for Item 7A in Words and Numbers) $N_0$	Cents
ITEM 8	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 1-1/2" THICK	//
	607 TONS @ \$ 125", Per TON	s 75,875 :
	ONE HUNDRED TWENTY FIVE DOLL	ARS
	(WRITE UNIT PRICE for Item 8 in Words and Numbers)	olents

ITEM 8A	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 1-1/2" THICK
	322 TONS @ \$ 125 Per TON \$ 40,250 .
	ONE HUNDRED TWENTYTTUE
ITEM 9	(WRITE UNIT PRICE for Item 8A in Words and Numbers) CONCRETE GUTTER, 8" THICK  OUARS- No Cents
TTEW 5	377 SY @ \$ 220 . Per SY \$ 82,940 .
	(WRITE UNIT PRICE for Item 9 in Words and Numbers) NOCEN (5
ITEM 9A	CONCRETE GUTTER, 8" THICK
	90 SY @ \$ 220 * Per SY \$ 19,800 *
	TWO HUNDRED TWENTY DOLLARS.
	(WRITE UNIT PRICE for Item 9A in Words and Numbers) No Cen + S
ITEM 10	CONCRETE SIDEWALK, 4" THICK
	180 SY @ \$ 120 * Per SY \$ 21,600 *
	(WRITE UNIT PRICE for Item 10 in Words and Numbers)
	(WRITE UNIT PRICE for Item 10 in Words and Numbers) No Cents
ITEM 10A	CONCRETE SIDEWALK, 4" THICK
	90 SY @ \$ 120 . Per SY \$ 10,800 /
	ONE HUNDRED TWENTY DOLLARS
	(WRITE UNIT PRICE for Item 10A in Words and Numbers)
ITEM 11	CONCRETE DRIVEWAY APRON, 6" THICK
	205 SY @ \$ /30. Per SY, \$ 26, 650.
	ONE HUNDRED THIRTY DOWNES
	(WRITE UNIT PRICE for Item 11 in Words and Numbers)
ITEM 11A	CONCRETE DRIVEWAY APRON, 6" THICK
	30 SY @\$ /30 Per SY \$ 3, 900 ,
	ONE FUNDRED / HIRTY (DOLLARS
	(WRITE UNIT PRICE for Item 11A in Words and Numbers) No Certs
ITEM 12	DETECTABLE WARNING SURFACE
	146 SF @ \$ 80 th Per SF \$ 11,680 th
	Eighty Douars - No Conts
	(WRITE UNIT PRICE for Item 12 in Words and Numbers)

TEM 12A	DETECTABLE WARNING SURFACE	7 6 800
	96 SF @ \$ O Per SF	1,000
	96 SF @ \$ 80 Per SF  Eighty Dol(ARS - No Cont-S  (WRITE UNIT PRICE for Item 12A in Words and Numbers)	
TEM 13	8"x16" CONCRETE VERTICAL CURB	133 500 4
	2,670 LF@\$ 50 Per LF  Fifty Dougas-Nolents	\$ 133,500
	(WRITE UNIT PRICE for Item 13 in Words and Numbers)	
TEM 13A	0":.40" CONCRETE VERTICAL CURR	
TEM TOT	645 LF @ \$ Per LF	\$ 25,800 4
	FORTY DOUGARS-NOCOATS	
	(WRITE UNIT PRICE for Item 13A in Words and Numbers)	
	TOPSOILING, 4" THICK	- 1/ 0 4
	240 SY @ \$ Per SY	sZ40.
	240 SY @ \$Per SY  ONE DOUGR NO(en+S)  (WRITE UNIT PRICE for Item 14 in Words and Numbers)	
TEM 14A	TOPSOILING, 4" THICK	s 160°
	160 SY@\$ / Per SY  ONE DOLLAR-NOCENTS	\$
	(WRITE UNIT PRICE for Item 14A in Words and Numbers)	
TEM 15	SODDING	"
	240 SY @ \$ 9 4 PER SY	s_2,160 k
	MINE DOLLARS - No Cents	
	(WRITE UNIT PRICE for Item 15 in Words and Numbers)	
TEM 15A	SODDING	11110
	160 SY @ \$ PER SY	\$ 1,440;
	160 SY @ \$ PER SY  NE DOLLARS NO Cents  (WRITE UNIT PRICE for Item 15A in Words and Numbers)	
TEM 16	LANDSCAPING STONE	
. 2.11. 10	<i>A</i>	\$ 4,250 h
	85 TONS @ \$ 50 Per TON  Fifty Doucars - No Cents  (WRITE UNIT PRICE for Item 16 in Words and Numbers)	
	(WRITE UNIT PRICE for Item 16 in Words and Numbers)	

	LANDSCAPING STONE
	5 TONS @ \$ 30 . Per TON \$
	Thirty Douges- Notents
	(WRITE UNIT PRICE for Item 16A in Words and Numbers)
ITEM 17	THERMOPLASTIC, REFLECTORIZED, PAVEMENT MARKINGS
II EIVI I7	750 SF @ \$ $3^{\frac{1}{7}}$ PER SF \$ $2,250^{\frac{1}{7}}$
	750 SF @\$
	Three Dockars - No Conts (WRITE UNIT PRICE for Item 17 in Words and Numbers)
ITEM 17A	THERMOPLASTIC, REFLECTORIZED, PAVEMENT MARKINGS
	2,620 SF @ \$ 3 PER SF \$ 7,860 .
	Three Douars-No Cents (WRITE UNIT PRICE for Item 17A in Words and Numbers)
	(WRITE UNIT PRICE for Item 17A in Words and Numbers)
ITEM 18	TEMPORARY LATEX SAFETY STRIPE, 6" WIDE, IF AND WHERE DIRECTED
	3,310 LF@\$ - O - 50 Per LF  No Do LUARS - FI Fty Cents  (WRITE UNIT PRICE for Item 18 in Words and Numbers)
	NO DOLLARS-Fitty Cents
	(WRITE UNIT PRICE for Item 18 in Words and Numbers)
ITEM 19	TRAFFIC CONTROL
	1LS@\$ 173,000 \$ 173,000 =
	1 LS @ \$ 173,000 \$ \$ 173,000 EVENTY THREE THOUSAND DOLLARS (WRITE LUMP SUM PRICE for Item 19 in Words and Numbers) No Cents  CONSTRUCTION SIGNS
	WRITE LOWIF SOMITION CLONE
ITEM 20	10 UNITS @ \$ /75 "Per UNIT \$ 1,750"
	(WRITE UNIT PRICE for Item 20 in Words and Numbers) Wo Con to
ITEM 21	TVDE "A" INLET
	3 UNITS @\$ 5,500 PER UNIT \$ 16,500
	FIFTY FIVE HUNDRED DOLLARS  (WRITE UNIT PRICE for Item 21 in Words and Numbers)
	(WRITE UNIT PRICE for Item 21 in Words and Numbers)  No Gents
ITEM 22A	RESET INLET/MANHOLE CASTING
	2 UNITS @\$ 800 PER UNIT \$ 1,600 #
	Eight/TUNDRED DOUARS (WRITE UNIT PRICE for Item 22A in Words and Numbers)
	(WRITE UNIT PRICE for Item 22A in Words and Numbers) No Cents

ITEM 23	RESET UTILITY VALVE BOX
	3 UNITS @ \$ PER UNIT \$
	ONE DOUAR NO Cents
	(WRITE UNIT PRICE for Item 23 in Words and Numbers)
ITEM 23A	RESET UTILITY VALVE BOX
	6 UNITS @ \$ / . PER UNIT \$
	ONE DOLLAR NO CENTS
	(WRITE UNIT PRICE for Item 23A in Words and Numbers)
ITEM 24	TEMPORARY TRENCH RESTORATION
	205 LF @\$ 72 16 PER LF \$ 14,760 46
	SEVENTY TWO DOLLARS
	Seventy Two Pouges  (WRITE UNIT PRICE for Item 24 in Words and Numbers)  No Cents
ITEM 25	PERMANENT TRENCH RESTORATION
	205 LF @\$ 32 PER LF \$ 6,560.
	MIRTY (WO DOCLARS-NOCENTS
	PERMANENT TRENCH RESTORATION  205 LF @ \$ 32 PER LF \$ 6,560 A  Thirty Two Documes - Notion 15  (WRITE UNIT PRICE for Item 25 in Words and Numbers)  8"Ø PVC SDR 35 GRAVITY SEWER MAIN
ITEM 26	8"Ø PVC SDR 35 GRAVITY SEWER MAIN
	1,291 LF @ \$ / \ \ Per LF \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
	1,291 LF @\$ 150 Per LF \$ 193,650 WRITE UNIT PRICE for Item 26 in Words and Numbers)
ITEM 27	8"Ø CERAMIC EPOXY LINED CLASS 52 DUCTILE IRON GRAVITY SEWER MAIN
	16 LF @\$ 315" Per LF \$ 5,040"
	THREE HUNDRED FIFTEEN DOCLARS (WRITE UNIT PRICE for Item 27 in Words and Numbers) No Conts
	(WRITE UNIT PRICE for Item 27 in Words and Numbers) No Con 15
ITEM 28	8"x6" PVC SDR 35 BRANCH CONNECTION
	34 UNITS @\$ 2,400 Per UNIT \$81,600 TO TWENTY FOUR HUNDRED DOWARS (WRITE UNIT PRICE for Item 28 in Words and Numbers) No Cents
	TWENTY FOUR HUNDRED DOWARS,
	(WRITE UNIT PRICE for Item 28 in Words and Numbers) No Corits
ITEM 29	6"Ø PVC SDR 35 SERVICE LATERAL
	774 LF @ \$ 14 \$ Per LF \$ 10, 836 \$
	774 LF @ \$ 14 4 Per LF \$ 10,836 6  FOURTEEN DOLLARS  (WRITE UNIT PRICE for Item 29 in Words and Numbers) NO COAS
	(WKITE UNIT PRICE IOI ILEITI 29 III WOIDS AND INTIDEIS) NO CEMAS

ITEM 30	VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE
	33 UNITS @ \$ 46: Per UNIT \$ 1,518.
	FORTY SIX DOLLARS NOCENTS
	(WRITE UNIT PRICE for Item 30 in Words and Numbers)
	DESCRIPTION OF WED MANUALE
ITEM 31	PRECAST SANITARY SEWER MANHOLE
	7 UNITS @\$ 10,000, Per UNIT \$ 70,000
	7 UNITS @\$ 10,000, Per UNIT \$ 70,000.    EN Thousand Dollars - No Conts (WRITE UNIT PRICE for Item 31 in Words and Numbers)
ITEM 32	12"Ø PVC C-900 WATER MAIN PIPE AND FITTINGS  50 LF @ \$ 337 PER LF \$ 16,850
	50 LF@\$ 337, PER LF \$ 16,850;  Three-tundred Thirty Seven Doward  (WRITE UNIT PRICE for Item 32 in Words and Numbers)  No Cents
	(WRITE UNIT PRICE for Item 32 in Words and Numbers)  (We Cen +5
.==	10"Ø PVC C-900 WATER MAIN PIPE AND FITTINGS
ITEM 33	170 4 7 2 350 4
	ONE HUNDRED SEVENTY DOLLARS,
	155 LF @\$ 170 PER LF  ONE HUNDRED SEVENTY DOLCARS, (WRITE UNIT PRICE for Item 33 in Words and Numbers)  No Conts
ITEM 34	8"Ø PVC C-900 WATER MAIN PIPE AND FITTINGS
TTEIVI 34	920 LF @\$ 140 " PER LF \$ 128,800 ".
	ONE HUNDRED FORTY DOLLARS.
	(WRITE UNIT PRICE for Item 34 in Words and Numbers)
ITEM 35	6"Ø PVC C-900 WATER MAIN PIPE AND FITTINGS
11211100	650 LF @\$ 125. PER LF \$81, 250.
	ONE HUNDRENTY FILE DOLLARS
	(WRITE UNIT PRICE for Item 35 in Words and Numbers)  No Cents
ITEM 36	SERVICE CONNECTIONS //
	39 UNITS @\$ Z 700 PER UNIT \$ 105, 300
	TWENTY SEVEN HUNDRED DOLLARS,
	SERVICE CONNECTIONS  39 UNITS @ \$ 2,700 PER UNIT \$ 105,300 PER UNIT  TWENTY Seven/ FUNDRED DOLCARS  (WRITE UNIT PRICE for Item 36 in Words and Numbers) No Confis
ITEM 37	
	1" COPPER SERVICE PIPE  900 LF @ \$ 10  Per LF \$ 9,000 @
	1 EN DUCCAS NO CENTS
	(WRITE UNIT PRICE for Item 37 in Words and Numbers)

	11
	) /
FOURHUNDREDSEVENTY THREE DOWARS	
(WRITE UNIT PRICE for Item 38 in Words and Numbers)  No Confi	
WATER METER BOX, COVER AND SETTER 3/4"	1,
3 UNITS @ \$ 505 PER UNIT \$ 1,515	1
FIVE HUNDRED FIVE DOLCARS	
/	
	a
	<u>·</u>
O TRI JULIUS COLOR	
/ 0 0 0 0 1 1	
<i>h</i>	) i
(WRITE LUMP SUM PRICE for Item 41 in Words and Numbers)	
12" GATE VALVE AND VALVE BOX	) (e
2 UNITS @ \$ 10,000 Per UNIT \$ 20,000	) 4
100(2111)	
	) a
Alias Thousand Fine Handers Douglas	25
(WRITE UNIT PRICE for Item 43 in Words and Numbers)	
8" GATE VALVE AND VALVE BOX	a
	) "
Eight Thousand Doubes	
Cepti	
	) a
(WRITE UNIT PRICE for Item 45 in Words and Numbers)	
	3 UNITS @\$ 505 / PER UNIT \$ 1,515    FIVE HUNDRED FIVE OCCARS (WRITE UNIT PRICE for Item 39 in Words and Numbers) No Conts  WATER METER BOX, COVER AND SETTER 1" 6 UNITS @\$ 629  Per UNIT \$ 3,774  SIX HUNDRED TWENTY NINE DOCLARS (WRITE UNIT PRICE for Item 40 in Words and Numbers) No Conts  ABANDONMENT OF EXISTING WATER MAIN  1 LS @\$ 20,000  Per UNIT \$ 20,000  2 UNITS @\$ /0,000  Per UNIT \$ 20,000  WRITE LUMP SUM PRICE for Item 41 in Words and Numbers) No Conts  12" GATE VALVE AND VALVE BOX  4 UNITS @\$ 9,500  Per UNIT \$ 38,000  4 UNITS @\$ 9,500  Per UNIT \$ 38,000  WRITE UNIT PRICE for Item 43 in Words and Numbers) No Conts  8" GATE VALVE AND VALVE BOX  6 UNITS @\$ 8,000  Per UNIT \$ 48,000  6 UNITS @\$ 8,000  Per UNIT \$ 48,000  6 UNITS @\$ 7,500  Per UNIT \$ 22,500  WRITE UNIT PRICE for Item 44 in Words and Numbers) No Conts  6" GATE VALVE AND VALVE BOX  3 UNITS @\$ 7,500  Per UNIT \$ 22,500  9 Per UNIT \$ 22,500  10" GATE VALVE AND VALVE BOX  10" GATE VALVE AND VALVE BOX

ITEM 46	UTILITY BYPASS, IF AND WHERE DIRECTED  13 UNITS @ \$ 2,000, Per UNIT \$ 26,000.  WRITE UNIT PRICE for Item 46 in Words and Numbers) No Conts
ITEM 47	12" © CLASS 52 DUCTILE IRON STORM PIPE  65 LF @ \$ 257  Per LF  Two Hundred Fifty Seven Downes  (WRITE UNIT PRICE for Item 47 in Words and Numbers)  No Cents
ITEM 48	16" Ø CLASS 52 DUCTILE IRON STORM PIPE  160 LF @ \$ 14 2  Per LF  ONE HUNDRED FORTY Two Dougles S  (WRITE UNIT PRICE for Item 48 in Words and Numbers) No Cents
ITEM 49	SITE RESTORATION  CM 2,000  \$ 2,000  S 2,000  (WRITE LUMP SUM PRICE for Item 49 in Words and Numbers)  No Cents
ITEM 50	UTILITY AS-BUILTS  1 LS @ \$ 2,000 \$ 2,000 \$.  Two Thous And Doccars  (WRITE LUMP SUM PRICE for Item 50 in Words and Numbers)
ITEM 51	FUEL PRICE ADJUSTEMENT \$ 1,600.00
ITEM 52	ASPHALT PRICE ADJUSTEMENT \$3,000.00
ITEM 53	ONE 4" AND TWO 2" SCHEDULE 40 PVC ELECTRICAL CONDUITS  451 LF @ \$ 69  Per LF \$ 31, 119  (WRITE UNIT PRICE for Item 53 in Words and Numbers)  (WRITE UNIT PRICE for Item 53 in Words and Numbers)
TOTAL E	SASE BID (Items 1 through 53 inclusive)  SOMILLION - FORTY ONE THOUSAND  TOTAL BASE BID in Words and Numbers)  THE TOTAL BASE BID in Words and Numbers)  TOTAL BASE BID in Words and Numbers)  THE TOTAL BASE BID in Words and Numbers)  THE TOTAL BASE BID IN WORDS AND THE BASE BI
497	AND TWO Cents  (Rev. No. 31)  B-10

### BID

## TABLE OF CONTENTS

	PAGE NO.
BID	1
SCHEDULE OF BID ITEMS	2
STATEMENT OF OWNERSHIP DISCLOSURE	17
CONTRACTOR'S CERTIFICATION	19
CERTIFICATION OF NONSEGREGATED FACILITIES	27
LISTING OF SUBCONTRACTORS TO BE USED	28
NON-COLLUSION AFFIDAVIT	29
CERTIFICATION OF BIDDER'S STATUS	30
REQUIREMENT FOR CERTIFICATE OF SURETY	. 32
CERTIFICATE OF SURETY	32
BID BOND	34
EQUIPMENT CERTIFICATION	36
DISCLOSURE OF CONTRIBUTIONS TO NEW JERSEY ELECTION LAW ENFORCEM COMMISSION (ELEC)	
DOCUMENT SUBMISSION CHECKLIST	41



# BID to the BOROUGH OF AVALON CAPE MAY COUNTY, NEW JERSEY 2022 RECONSTRUCTION OF VARIOUS STREETS CONTRACT NO. M-128

THE UNDERSIGNED, as bidder, declares that the only persons or parties interested in the Bid as principals are named on Ownership Disclosure Statement; that the Bid is in all respects fair and without collusion or fraud; that he has carefully examined the annexed proposed form of Contract, the Specifications, the Contract Drawings, and the Information for Bidders; that he, or his representative, has made a personal inspection of the site of the proposed work; and that he proposes and agrees that if this Bid is accepted, he will contract with the **Borough of Avalon** in the form of contract hereto annexed, to provide the necessary machinery, tools, apparatus, and other means of construction, and to furnish all the materials, equipment and labor specified in the Contract in the manner and time therein specified, and according to the requirements of the Engineer as therein set forth, and that he will take in full payment therefore the following prices, to wit:



#### ASPHALT CEMENT AND FUEL PRICE INDEX

Contractor shall provide the asphalt and fuel index price for the month before the opening of bids as determined and published by the New Jersey Department of Transportation. (http://www.state.nj.us/transportation/business/trnsport/PriceIndex.shtm)

Current Month Year

Fuel Index: \$\\\ 5.\ \ Z 0

Asphalt Cement Index: #779a 4x

Asphalt Supplier Location: North / South (circle one) of Route 195

SOUTH State, INC. WOODBINE, NIJ.

Name and Address of Asphalt Supplier

This Bid is accompanied by bid security either in the form of a certified check or cashiers check drawn on (Name of Bank)

(Name of Bank)

(Address of Bank)

Bank of in the amount of In the I

The undersigned Bidder hereby agrees that if this Bid shall be accepted by the Owner and the undersigned shall fail to execute and deliver the Contract and Contract Bonds in accordance with the terms of this proposal and with the requirements of the foregoing Information for Bidders, then the undersigned shall be deemed to have abandoned the Contract, and thereupon the Bid and its acceptance shall be null and void and (1) if a certified check is herewith submitted as bid security, the amount of said check accompanying this Bid shall be due and payable thereunder to the Owner as liquidated damages; otherwise the said certified check, or the amount thereof, shall be returned to the undersigned, or (2) if a Bid Bond is herewith submitted as bid security, the amount specified in the Bid Bond shall be due and payable thereunder to the Owner as liquidated damages in accordance with said Bid Bond; otherwise the Bid Bond shall become null and void.

The undersigned Bidder acknowledges and agrees that such Bidder has received, read, understand, and shall comply with all provisions of the Contract Documents, including Affirmative Action.

an

ACKNOWLEDGMENT OF RECEIPT OF C	HANGES TO BID DOCUI	MENT FORM	
Borough	of AUALON ntracting Unit)		
(Name of Local Co	ntracting Unit)	1 1 7 0	
2022 Keconstruction o		ect or Bid Number)	
(Name of Construction/Public Works Project)  ARIOUS STREETS	(110)		
Pursuant to N.J.S.A. 40A:11-23.1(a), the undersign following notices, revisions, or addenda to the bid ad indicating date of receipt, bidder acknowledges the sthe notice, revision or addendum. Note that the log precedence and that failure to include provisions or rejection of the bid.	submitted bid takes into ac cal unit's record of notice	count the provisions of to bidders shall take	
Local Unit Reference Number	How Received	Date Received	
Or Title of Addendum/Revision	(mail, fax, Pick-up, eţc.)	1	
NONE	NA	NA	CU
NO ADDENDA WAS RECEIVED			
Acknowledgement by Bidder:	*		
Name of Bidder: MARLES MAR	ANDINO LLO	_	
01 1015	SMARANDI	NO	
By Authorized Representative:	0/11/11/01/100		
Signature:	2 . 2 . 10 . 110	2	
Printed Name and Title: MARLES M	JARANDINO C	)WNOR	
Date: 8/30/22			